[image: image1.wmf]xyz

0

xyz

1

,

log

xyz

2

(

)

,

(

)


[image: image2.jpg]



Magnetic field distribution: the axes are in meters; the rectangle is one half of the solenoid.

(Note that in the sketch above “Z=3” is really Z=0 in our baseline geometry, and the “Z” direction is not to scale.)
1. The volume within the conductor is > 9.7 T (red), > 6.1 T (orange).

2. The field at Z=0, R=0.6 is >0.6 T, at R=1.0 (base support structure), B> ~0.1 T (1000 G).

3. The field at Z=-2.5, R=0.4 (pump motor) is 0.03<B<0.07 T (300-700 G).

The sketch below simply shows the relationship of the stray field with the target assembly; an up-to-date sketch will be sent tomorrow with contours that are labeled. Recall that at Z=0 the field is 15 Tesla.
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